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SN EYS
X SYS AEEH
Helr FUNXME HWa2d ANE K& )
5 - 4
K- ZE SR (3) - HRAY - BaS 0l &t o e 2
-Hol= 90,000 *25H4 2,250
OmA & AJHY 900
-HA(10H) 300,000 300
-2 300, 000& 24 600
Sl EsEy 64,390 64,390 0
SClgEEasE4 N 64,390 64,390 0
301 et a3z 64,390 64,390 0
05 8% -01& - BtE &= 64,390 64,390 0
os&=¢ 200,000& 18K« 123 43,200
OsHaNH= 200,000& x18Y x23| 7,200
Os&3 &A= 20,0003 «18F #2353« 128 8,640
Otttz =l 50,000 107 =13 5,350
HY2IZH (ELS) 88,661 87,695 966
IHRIH(ELYS) 32,641 31,515 1,126
NEAL(BLS) 32,641 31,515 1,126
101 1A Hl 32,641 31,515 1,126
03 RIHAZ 2T E =+ 32,641 31,515 1,126
O BamzegEd=2d(1g) 32,641
-JlEs 1,212,1202 128 14,546
- 03 1,212,120 =4 & 4,849
-Jtat3 1,212, 1203 128 % 12% 1,746
“A2H R 2R 10,320 22 A1 2+ x12& 2,725
-FE2R=E 82,6303 x2 128 1,984
k== 55,090& *52=F 2,865
-gRaSFIGE 55,090 10 551
- A G A 80,000& «12& 960
-wE 2 A 60,0003 x12& 720
-E 2 F Ol 1,212, 1202 23| *60% 1,455
- EsE 20,0003 =128 240
2ZH(5LS) 56,020 56, 180 A 160
gyl (5g¢s) 56,020 56, 180 A 160
201 ¢4l 29,200 29,200 0
01 At 2t 2l 12,000 12,000 0
ORM2IARS 12,000, 000& 12,000
02 232gHl 17,200 17,200 0
OHIIRS 12,000, 000& 12,000
Odt=Ex3 1,200,000& 1,200
ORERS 4,000,000& 4,000
202 O4dl 17,760 17,060 700
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